SN DSHH
o DSpel(DSLSR/HELS - 2RSIIE)
ol DSy (E491: &)
S - T S2(3) - HIRAIY - BAS 0 et plE<El HlRE2
DESID 28,934,114 29,322,884 388,770
2 1,236,400 1,236,200 200
= 636,616 636,616 0
= 620,051 620,051 0
Al 26,390,047 26,830,017 £439,970
= 51,000 0 51,000
DER(DELSE/UERE - 2RSIIEH 19,219, 114 19,705,071 485,957
2 1,236,400 1,236,200 200
2 636,616 636,616 0
= 620,051 620,051 0
Al 16,675,047 17,212,204 ~537, 157
= 51,000 0 51,000
nEHX 3,173,133 3,145,356 27,777
= 51,400 51,200 200
= 93,000 93,000 0
= 3,530 34,530 0
Al 2,943,203 2,966,626 £23,423
= 51,000 0 51,000
ESIET 1,781,833 1,785,456 £3,623
201 Br2Y] 2,607 3,230 £3,623
01 AFR22lt] 2,607 3,230 13,623
ORSXTHYHIARNS] B4 LSH(GIAE)
AT 504,0008! 504 560 ~56
OSSR NN B4 £L(CIAE)
2% 37,0002 378 420 A2
OSAIZXIRIRS] B4 £ (OIAE)
AT 441,002 441 490 A9
OREHY 222 R 3,420 3,800 £380
—IS 2 222 AM(HAE)
A3 1,260,008 1,260 1,400 A0
—DE T B Y RI(0AEY)
A% 2,160,002 2,160 2,400 ~240
OO0 Y slEXSTE2 SIS, MAl S ol
(042 A% 864,002 864 960 ~%
OAZHHZIIQMNAT £ ZD(AILHHA)
(042 A3 27,000,002 27,000 30,000 £3,000
(2)2IHHA KA 351,000 300,000 51,000
2 30,000 30,000 0
Al 270,000 270,000 0
= 51,000 0 51,000
307 RI2H0IH 351,000 300,000 51,000
2 30,000 30,000 0
Al 270,000 270,000 0
x 51,000 0 51,000
09 25HSES 351,000 300,000 51,000
OB2EWA T 2% 351,000,002 351,000 300,000 51,000
2 30,000 30,000 0




SN RSB
o DSpel(DSLSR/HELS - 2RSIIE)
ol DSy (Er9): &)
S - B - S9(3H) - HRAY - BES ol&ey plE=L! AimE=T
A 570,000 570,000 0
= 51,000 0 51,000
(2)ZALEDEIS o3 OrY2IX X 3,200 2,800 400
2 1,600 1,400 200
Al 1,600 1,400 200
308 RXISHHISOIH 3,200 2,800 400
2 1,600 1,400 200
Al 1,600 1,400 200
11 SIS AR A A 3,200 2,800 400
OLENEIIS 21 OLeIXl X
A 3,200,002 3,200 2,800 400
2 1,600 1,400 200
Al 1,600 1,400 200
NEETEERTE 0 20,000 £20,000
201 Yty 0 20,000 £20,000
01 AFR 22l 0 20,000 220,000
OHAYZT 2 +42 (28U A1)
3% 02 0 20,000 220,000
SEAY m2 12,268,553 12,768,553 A500,000
2 1,185,000 1,185,000 0
2 50,616 50,616 0
= 256,521 256,521 0
Al 10,776,416 11,276,416 500,000
S4e 2N 4,108,604 5,108,604 1,000,000
307 21201 F 4,108,604 5,108,604 1,000,000
09 S5HSES 4,108,604 5,108,604 1,000,000
OS%ARIT SINBED(BEE Ho) 4,108,604 5,108,604 21,000,000
—HA(ZETI A B 370,135,000 370,135 570,135 £200,000
—SA(EBTN M) A 472,083,002 472,083 772,083 300,000
—S2(YaT AR
A 3,266,386,000% 3,266,386 3,766,386 500,000
blo! Szl 5,750,000 5,250,000 500,000
307 21201 F 5,750,000 5,250,000 500,000
09 S5 HSES 5,750,000 5,250,000 500,000
OS0EHA HlSolzd 2aex
23 5,500,000,000% 5,500,000 5,000,000 500,000
DEAE 22| 3,757,216 3,769,914 A12,6%8
2 493,000 493,000 0
= 329,000 329,000 0
Al 2,935,216 2,047,914 A12,698
nENEETY 1,974,230 1,975,330 A1,100
201 Br2H] 181,730 182,830 21,100
01 AF= 22l 9,900 1,000 A1,100
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2N wSSHAD
M pszel(USESF/USNS - 2F3IIE)
ool ESE2 CERE)
2A -3 - H2(3H) - HEAY - BES Of] AboH JIEH Hws2
—NSXHSE 2E A4 4% 1,512,000 1,512 1,680 2168
—NSXHEIEAN HA] Z3& 1,008,000 1,008 1,120 2112
—NSAHUSE A4 Z3& 1,008,000 1,008 1,120 A112
—NSXAHSSHE HEHS2I A4
43 1,080,000& 1,080 1,200 2120
—AEIIHSE 2& Nal &3 972,000 972 1,080 A108
—HEI|HESAI BB 23 1,260,000 1,260 1,400 140
OXHSEET J|28E ARESHI(0IAE2) 2,484 2,760 N2T6
—SAEX 7 38 324,000 324 360 A36
—H2IEe EH(S) 28 1,440,000& 1,440 1,600 A160
—T2IH EU(ZY) 43 360,000 360 400 A0
—321E8| #2ld| 43 360,000 360 400 A0
HY2HAY(SSHF ) (IIEHDIIEL 132,931 154,783 A21,852
JlE2Zzl 87,868 109,720 A21,852
J|12Z| 87,868 109,720 A21,852
201 2| 22,608 25,120 A2,512
01 At=22t2ldl 22,608 25,120 A2,512
OSAZX 2 (0larEZ) &3 3,456,000 3,456 3,840 N384
OS201alHI (ol arE 2 &3 9,072,000 9,072 10,080 A1,008
Ot (0flatE2) &3 1,080,000 1,080 1,200 A120
O2R2 SARAHI(0lAHEZ)
& 540,000& 540 600 260
OAR2 SEHI(HAEZ) 7,380 8,200 AB20
—SAI| =2l 438 900,000 900 1,000 A100
—IZgIEI| el Z& 180,000 180 200 N20
—SADI EY 23 900,000 900 1,000 A100
—ZEEHI(EH) EY Z& 3,600,000 3,600 4,000 A400
—ZEHII(EH) EY Z& 900,000& 900 1,000 A100
—PC ==2| 4% 360,000& 360 400 N0
—J|Et==2lbl 48 540,000 540 600 A60
OJIEF At22t2]] (ol AR 2t)
Z& 1,080,000 1,080 1,200 2120
202 04dl 60,280 79,200 18,920
01 ZLHOHI 60,280 79,200 18,920
OZLHBI (oAt E ) AE 49,840,000 49,840 57,600 AT7,760
OZA0H| (TS EHH A2t 23 10,440,000 10,440 21,600 A11,160
203 HRF=&H| 3,780 4,200 A420
04 EA2ILRFEI| 3,780 4,200 A420
SHN2HLREXYI(0AEZ)
18 3,780,000 3,780 4,200 A420
HRas(nsSddu)(nEYLEF/UENS - 23SIIEY) 9,582,069 9,463,030 119,039




2A nSHE D
HH: NRES(WSHIEW)(DSLSF/UHELS - = SIIEY)

&2l 2dMXE (el &)
S - T - SRI(SH) - HRA - BES 0 apot pE-L AimE=T
RPN 119,069 30 119,039
BEXE 119,069 30 119,039

802 BHEt=3DIEt 119,069 30 119,039
01 =n2x3tte=z 88, 149 0 88,149

020214 88,141 0 88, 141
—MattA FUXE ALY
88,000,000& * 14 88,000 0 88,000
—MAHA 2T AL (O0IAL)
140,310& = 14 141 141
020204 8 8
—UABIERAID|AL 212 DS A X2 (01X
7,460 * 14 8 0 8
02 Al - SHIEZZBHEE 30,920 30 30,890
020214 30,889 0 30,889
—MaA FUXE ALY
30,056,000 * 14 30,056 0 30,056
—MAHA 22X AL (O0IXL)
47,9202 * 14 48 0 48
—DEA 2HHS KNHEIBH(OIR})
780% * 14 1 0 1
—SAl SIISEX XX
774,000& * 14 774 0 774
—EHAl SADISEX AXIXIA(OIXL)
9,140& * 14 10 10
020204 1 1
—EX A KHEIBH(OIXE)
340 * 14 1 0 1




